1960 .Ge\./ pplbarl

Top (parton level)
N R B A

Rivet 3.1.10, = 2.1M events

_l | Tt T T T T | -

B A (ttbar) (pTtt < 50 dy > 0) |

102 =~ —a— Pythia 8.308 default =

- - Pythia 8.308 tune-4c -

= - Pythia 8.308 tune-4cx .

10 - =

10_1 E_ _E

1072 = =

| | I | | | | | | | | | | | | ]

:l T T T T | T T T T | T T T T | :

. 2F =

= — ]

S — _

[} | |

° — _

0 B _|

& — g & —

© Hlos Sge m Qg O\ B R 2

S 1 RR gt gYo g %@%‘ﬂ@ﬁ@r&%wﬂ _

o - B —

L i |
je

= B |
o

0.5 — .

| 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


